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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.

English version is authentic.

Explain principles of surveying.

AL AL [ Ao,

Explain line ranger.

SIGEECTEIET

A 20 m chain was found to be 10 cm too long at the beginning and 30 cm too

short at the end of survey work. If distance measured by this chain is 930 m
Calculate correct distance.

20 Hlzz-dl aisn sl g2aaaul 10 HHl dioll ¢dl, ez stHeL 2id 30 Al 251
xRS, 671 21 A2l 930 Hl 2id2 HIUE SIA Al A1, 2idR 2liH,

OR
Explain Chaining on sloping ground.

Lnauil syHla uz AS5[01 AHMAL

Explain local attraction.

2245 205900 YHMAl

State and explain the methods of orientation in plain table survey.

UL 2018, AABRHL DL Rp2a Hi2<l ughldatl syRldl 24 AHmdl

The following bearings were observed while traversing with a compass where
do you suspect local attraction, correct it.

Line FB BB
AB 75° 255°
BC 116° 296°
CD 165° 347°
DE 226° 42°
EA 303° 125°
SPUA A1, 293, 53l At |2l Ao sxidl Hull dl. swri dud 2aulqs susierdl
2051 69 del HHIRL.
Line FB BB
AB 75° 255°
BC 116° 296°
CD 165° 347°
DE 226° 42°
EA 303° 125°
OR
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Explain temporary adjustments of prismatic compass.

5¥ULA AL 2FURE| LEoYRHAZ HHMAL

Write advantages and disadvantages of plane table survey.

AUIEL 208 HAABLAL 5IAEL 2 AR5AEL QUL

Calculate the included angles from the following observation of closed
traverse ABCDA.

Line FB

AB N40°00"E

BC S65°30°E

CD S13°30°'W

DA N80°00"W
6l HiAIU ABCDA 4L |2 Yoyolal Qarial siadisl Guzel iidRs vyaiil
ARLAZL 521,

Line FB

AB N40°00"E

BC S65°30°E

CD S13°30°'W

DA N80°00"W

Define (1) Level surface (2) Axis of bubble tube (3) Reduced Level
AL UL 1) UHAG HULEL 2) 01019 2201l 82l 3)uiua G
Explain reciprocal leveling.
A QB UHMA,
Explain the characteristics of contour.
UH122 LAl @alBisdizil adal.

OR
Draw neat sketch of dumpy level and label all components.
¥l dad <l A [[2a qoll 29269 2415(d 212,
Write uses of contour.
5e22ell GUALIL QUil,
The following consecutive readings were taken on a continuously slopping
ground at 30 m interval.
0.210, 1.115, 1.700, 2.375, 0.980, 1.435, 1.980, 2.555, 1.125, 2.055, 2.630,
3.315, 3.950
The elevation of first point was 50.000m
Calculate R.L.of all points by H.I. method . Apply usual checks
<2l v1adisl Udd 5101 il orHld Uz 30m. L vidz1d dlaal .
0.210, 1.115, 1.700, 2.375, 0.980, 1.435, 1.980, 2.555, 1.125, 2.055, 2.630,
3.315, 3.950
U1K (sig-l uia G 50.000m €.
dHIH [5igel Aita G2 H.1. method 2l 2isl A sx2:<] dloll Hadl,
List the fundamental lines of theodolite and show their relationship
oflA1L2l12 <l HNGLA AL 2Ad AHAL 429, AL UF0i9, SrRUAL
Define Latitude and Departure.
AU Bid2 w1 719 Bid2 | ALvAL U,
Write short note on “Gale’s table”
25elH Uil Ad-l 2o1d

OR
Enlist any four components of theodolite and state their functions.
AfPUSLALDH2 <AL SITURL IR FUALAL AlH 24U 24 dedl GUALRLL oL,
Explain sources of errors in theodolite traversing.
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AfPUSLALD2 HIAIRUA HLAZIDAL AL UM GEAH 221, (42 AHMA.
Explain repetition method to measure horizontal angle with theodolite.

Aflsiasz <l Hee 2l aldsy vl Hiual HiZdl Yaiddd <L ld qumal

Write Bowditch rule.

oAl Al [aH quil,

Explain the temporary adjustments of theodolite.

1121152 Al GUHL ALY UHMAl,

In trignometrical leveling following readings were taken .Find out R.L. on top
of the tower if station A and B are at the same level and they are in same
vertical plane with the top of tower, take distance AB=50 m RL of BM=100
m

Inst. Station Staff reading on | Vertical angle
BM

A 3.345 25°30°

B 3.345 15°30°

[astmandly daam 1 12 Yoyotd 2qdisdl dAHl 2094 SIA dl 2192 2IW < RL
AL 2290 A, B 21l 2192 2i56 GYA A HL S 2A< 215 Uil oy Gl u Gulsul
AAlsdld viadisl AUHi 242U i1 AB= 50 m RL of BM=100

Inst. Station Staff reading on | Vertical angle
BM
A 3.345 25°30°
B 3.345 15°30°
OR

Define trignometrical leveling.

Bisieldlx daleqol 4 uzleulad s2i.

Write procedure to measure the bearing of a line using a theodolite.
oflAL2l152 2Rl s 2uAL o 61201 Hiue <{l <ld @,

Derive the formula to determine the height of object when object is not
accessible and instrument stations and object are in same vertical plane.
BU5BL 221, 2] UEIZ <Al WAL 200, S IR GUSRBL 241l 2 UL1d Bisey GYd
Ad, HL4Z] uelE) <l GAULS dlHAl 4 Yo 424l
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